Rapid Reasoning | Answers Year5 | Week 3 | Day5

m A number is made from these digits. m The difference between two numbers
is 470.
[5 ] {OJ {2] [9} [SJ {7} The larger number is double 460.
It is a multiple of 10. What is the smaller number?
The digit in the ten thousands place
. g P 450
is even.
It rounds up when rounded to the nearest 1mark
100,000.

m Aaron has 60g of sugar.

It rounds down when rounded to the He uses % of the sugar.

nearest 1,000.

How many grams of the sugar does Aaron

>
What could the number be? Give two have left?

possible answers.

10g

589,270

1 mark

985,270

1 mark
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Requirement Mark | Additional guidance

Q1 | Accept any two of the following: 1
587,290 589,270
785,290 789,250
985,270 987,250
Q2 | 450 1
Q3 10g 1
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